6 £FRIHHBARE (1)

(t /%)
B & C & A B, = #

g _ _ - - N -
B 2| | F 9 |EERA| & 3 B 2| £ | F 71 |EERA| & &
2 h 0 0 0 0 0 3.117 47.590 0 418 51.125
B 0 0 0 0 0 44,261 1.846 0 1.061 47.168
il ] 0 0 0 0 0 24.434 1.765 0 566 26.765
A PR 0 0 0 0 0 12.078 21.414 0 90 33.582
E & ™ 0 0 0 0 0 9.305 14.856 0 624 24.785
g B ™ 0 0 0 0 0 0 31.580 0 4.206 35.786
% 5k ™ 0 0 0 0 0 2.698 7.732 0 244 10.674
EEB T 0 0 0 0 0 0 4,105 0 213 4318
B | H 0 0 0 0 0 2.598 5,984 625 883 10.090
BB & 0 0 0 0 0 0 3.546 0 0 3.546
fE & ™ 0 0 0 0 0 3.480 510 0 235 4,225
NIRRT 0 0 0 0 0 5.537 1.267 0 96 6.900
EHE M 0 0 0 0 0 2.099 6.566 0 1.697 10.362
FED 0 0 0 0 0 1.401 17.160 0 488 19.049
i 5t 0 0 0 0 0] 111.008 | 165.921 625 10.821 | 288.375
A B W T 0 0 0 0 0 0 914 0 1 915
B OE AT 0 0 0 0 0 0 4.033 0 60 4.093
7 5 HT 0 0 0 0 0 6.910 482 0 76 7.468
g B H 0 0 0 0 0 1.306 0 0 1 1.307
JI| B ET 0 0 0 0 0 1.772 0 0 1 1.773
e 0 0 0 0 0 0 2.448 462 94 3.004
BE #1 My 0 0 0 0 0 4.032 0 0 0 4,032
X A H 0 0 0 0 0 0 2.030 0 35 2.065
x 3 HT 0 0 0 0 0 2.774 0 0 235 3.009
E = B 0 0 0 0 0 1.618 0 0 0 1.618
X #2 HT 0 0 0 0 0 0 2.033 0 28 2.061
3R EVET 0 0 0 0 0 2.990 0 0 322 3.312
£ db Hy 0 0 0 0 0 0 4,360 0 353 4713
fH i ET 0 0 0 0 0 1.952 0 0 0 1.952
£ = 0 0 0 0 0 2.490 0 0 0 2.490
fi7 5t 0 0 0 0 0 25.844 16.300 462 1.206 43.812
5 5t 0 0 0 0 0] 136.852 | 182.221 1.087 12.027 | 332.187
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6 £FRIHHBAR (2)

(t /%)
e TR = 5 EEENERCO

THE N m x|z 2|z o leeen| &2 o |5 2|2 2| % o |azsa| & 3
=3 H 166 2.610 0 4.336 7.112 715 13.450 0 63 14.228
At 5.176 6.316 0 1.261 12.753 95 8.834 0 0 8.929
BB W 698 50 0 51 799 786 5.840 0 36 6.662
W R ™ 1.109 2.092 0 17 3.218 1.609 504 0 5 2.118
EZ 4% ™ 0 1.213 0 109 1.322 508 8.390 0 0 8.898
& B ™ 0 2.579 0 2.191 4,770 9 5.561 0 942 6.512
% 5k ™ 587 120 0 397 1.104 1.066 923 0 72 2.061
EEB T 0 73 0 29 102 17 1.251 0 39 1.307
LG 0 0 0 0 0 0 1.477 4 364 1.845
B BT 0 543 0 0 543 390 367 0 0 757
BE B ™ 185 49 0 324 558 891 139 0 37 1.067
W 103 34 0 9 146 47 648 0 129 824
HE T 359 68 0 473 900 1.781 529 0 561 2.871
FE T 82 325 0 397 804 193 2.944 0 118 3.255
T it 8.465 16.072 0 9.594 34.131 8.107 50.857 4 2.366 61.334
K = R AT 0 61 0 0 61 0 245 0 0 245
-] 0 176 0 5 181 8 629 0 0 637
i B ET 262 0 0 106 368 521 1.190 0 179 1.890
g B Hr 287 0 0 3 290 285 0 0 1 286
JI| B mr 469 0 0 7 476 492 0 0 2 494
Z S HT 0 94 0 43 137 0 307 0 5 312
B 0 T 132 0 0 104 236 290 505 0 0 795
X & Hr 0 61 0 17 78 0 391 0 9 400
E i BT 104 0 0 13 117 215 566 0 171 952
B £ B 0 0 0 0 0 374 0 0 0 374
K 2 BT 0 53 0 15 68 0 113 0 8 121
BIRSET 76 91 0 677 844 212 429 0 75 716
£ 1t mr 0 40 0 19 59 877 0 0 74 951
] k mT 116 0 0 0 116 579 0 0 0 579
£ = i 212 0 0 0 212 693 0 0 0 693
i) =t 1.658 576 0 1.009 3.243 4,546 4.375 0 524 9.445
IR =t 10.123 16.648 0 10.603 37.374 12.653 55.232 4 2.890 70.779
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6 £FRIHHBEAR (3)

(t /%)
z )] fth A X Z #
HEr% = — 1 N ” . -
B 2| £ & | F 7 | EERA| & 3 = | F 9 | EERAl & 3

2 h 6 102 0 0 108 0 0 0 0 0
PgEm™ 0 0 0 0 0 0 0 0 0 0
il ] 67 0 0 3 70 112 84 0 405 601
W PR 0 5 0 0 5 0 0 0 115 115
Z 4% ™ 354 57 0 512 923 0 457 0 769 1.226
& B ™ 0 59 0 0 59 0 521 0 0 521
% 5k ™ 0 0 0 0 0 248 0 0 441 689
EEB T 0 0 0 0 0 11 0 0 18 29
B 0 0 0 116 116 113 449 2 876 1.440
BB M 0 0 0 0 0 0 0 0 0 0
fE & ™ 15 3 0 0 18 15 0 0 79 94
WA 0 0 0 0 0 0 0 0 2.320 2.320
EHE M 0 5 0 0 5 0 2 0 163 165
FED 0 0 0 0 0 39 0 0 152 191
i 5t 442 231 0 631 1.304 538 1.513 2 5.338 7.391
A B W T 0 2 0 0 2 0 66 0 1 67
B 8 AT 0 12 0 1.699 1.711 0 376 0 47 423
7 5 HT 0 0 0 0 0 0 0 0 0 0
g0 B HT 0 0 0 0 0 91 0 0 13 104
JI| B ET 0 0 0 0 0 101 0 0 27 128
% s H] 0 2 0 147 149 0 0 0 57 57
B9 #0 HT 0 0 0 0 0 8 0 0 202 210
X A H 0 6 0 0 6 0 0 0 96 96
x 3 HT 0 0 0 0 0 8 0 0 112 120
E = H 0 0 0 0 0 56 0 0 0 56
X #2 HT 0 6 0 0 6 0 0 0 83 83
R SAET 0 0 0 0 0 26 9 0 58 93
£ db Hy 0 0 0 0 0 0 0 0 0 0
) = HT 0 0 0 0 0 43 0 0 0 43
£ = AT 64 0 0 0 64 53 0 0 0 53
fi7 5t 64 28 0 1.846 1.938 386 451 0 696 1.533
5 5t 506 259 0 2.477 3.242 924 1.964 2 6.034 8.924

_88_




6 £FRIHBEARE (4)

_ _ (t /5)
EZE % 7 B A8 A5 | 38 45

TE e 2|z 2| olezwr] & o B w = | = |mewa] & 2
b= 3 H 4.004 | 63.752 0 4.817 72.573 0 13 0 0 0 13
B || 49.532 | 16.996 0 2.322 68.850 0 0 0 0 0 0
ff 8 m| 26.097 7.739 0 1.061 34.897 0 7 0 0 0 7
¥ B || 14.796 | 24.015 0 227 39.038 0 0 0 0 0 0
Z & | 10.167| 24.973 0 2.014 37.154 54 3 0 0 0 3
% B ™ 9] 40.300 0 7.339 47.648 0 1 1 0 0 2
% ik ™ 4.599 8.775 0 1.154 14.528 0 3 0 0 1 4
EE® 28 5.429 0 299 5.756 0 0 0 0 0 0
TG ) 2.711 7.910 631 2.239 13.491 0 0 0 0 1 1
BB T 390 4.456 0 0 4,846 0 0 0 0 18 18
BE B ™ 4.586 701 0 675 5.962 0 3 0 0 5 8
WA 5.687 1.949 0 2.5b4 10.190 0 0 0 0 0 0
& ETH 4.239 7.170 0 2.894 14.303 0 0 0 0 7 7
E 1.715 ] 20.429 0 1.155 23.299 0 0 0 0 0 0
[zl £+ 11128.560 | 234.594 631 ] 28.750 | 392.535 54 30 1 0 32 63
K B URET 0 1.288 0 2 1.290 0 0 1 0 0 1
E -] 8 5.226 0 1.811 7.045 0 0 0 0 1 1
N B ET 7.693 1.672 0 361 9.726 0 0 0 0 0 0
g8 B Hr 1.969 0 0 18 1.987 0 0 0 0 0 0
JI| B mT 2.834 0 0 37 2.871 0 0 0 0 0 0
Z & M7 0 2.851 462 346 3.659 0 0 0 0 0 0
B 0 HT 4.462 505 0 306 5.273 170 0 0 0 0 0
X A BT 0 2.488 0 157 2.645 0 0 0 0 0 0
E g A7 3.101 566 0 531 4,198 0 7 0 0 6 13
B £ BT 2.048 0 0 0 2.048 0 0 0 0 0 0
X i BT 0 2.205 0 134 2.339 0 0 2 0 0 2
B {RESET 3.304 529 0 1.132 4,965 0 13 0 0 0 13
2 dt mr 877 4.400 0 446 5.723 0 0 0 0 7 7
fH = mT 2.690 0 0 0 2.690 0 1 0 0 0 1
2 = BT 3.512 0 0 0 3.512 152 2 0 0 0 2
BT g 32.498 | 21.730 462 5.281 59.971 322 23 3 0 14 40
IR £+ ]1161.058 | 256.324 1.093 | 34.031 | 452.506 376 53 4 0 46 103
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6 FERIHHBEAER (1)

(t /%)
B A&  # G S
THE w2 2] o loewr] 2 |2 2|2 2] 5 o |aeen| & ¢

b= 3 3] 0 0 0 0 0 0 0 30.080 3.144 33.224
B 0 0 0 0 0 0 0 27.298 2.569 29.867
il 0 0 0 0 0 0 0 12.522 3.541 16.063
WP ™ 0 0 0 0 0 0 0 12.237 3.044 15.281
Z 4™ 0 0 0 0 0 0 0 12.653 0 12.653
& B ™ 0 0 0 0 0 0 0 18.507 0 18.507
% Bk ™ 0 0 0 0 0 0 0 5.068 767 5.835
EE & 0 0 0 0 0 0 0 1.113 196 1.309
LG 0 0 0 0 0 0 0 2.999 1.747 4.746
EP®H 0 0 0 0 0 0 0 3.941 1.834 5.775
fEH ™ 0 0 0 0 0 0 0 516 619 1.135
WX 0 0 0 0 0 0 0 2.558 361 2.919
s BT 0 0 0 0 0 0 0 4.340 2.369 6.709
FEM 0 0 0 0 0 0 0 3.208 271 3.479
[z} it 0 0 0 0 0 0 0| 137.040 20.462 | 157.502
K = R ET 0 0 0 0 0 0 0 162 0 162
B R R 0 0 0 0 0 0 0 371 0 371
i B ET 0 0 0 0 0 0 0 2.820 83 2.903
g 8 Hr 0 0 0 0 0 0 0 97 0 97
JI| B ET 0 0 0 0 0 0 0 244 0 244
Z K HT 0 0 0 0 0 0 0 119 581 700
BR #1 ET 0 0 0 0 0 0 0 1.477 521 1.998
X & Hr 0 0 0 0 0 0 0 270 109 379
E i AT 0 0 0 0 0 0 0 0 774 774
E £ T 0 0 0 0 0 0 0 339 32 371
X & HT 0 0 0 0 0 0 0 321 133 454
BIREET 0 0 0 0 0 0 0 22 497 519
% dt Hr 0 0 0 0 0 0 0 1.386 538 1.924
# = mT 0 0 0 0 0 0 0 0 0 0
£ = fr 0 0 0 0 0 0 0 0 0 0
;BT it 0 0 0 0 0 0 0 7.628 3.268 10.896
IR it 0 0 0 0 0 0 0| 144.668 23.730 | 168.398
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6 FERIHEBEAR (2)

(t /4F)

it

D
=]

89
524

152

76
41
107

273
292
1.566

145

22

173
1.739

426

31

36
21

201

13
734

130

130
864

A | EERA

i

& (SRHEYRZFR <)

51

98

121

40
20
107

72
279

797

11

22

39
836

B

14

14

&
-3

-]

18

21

21

.i.

D
=

2.362

49
986
216
732
856

26

1.526

522

66
7.349

11

1,130

1.150
8.499

295

809

411

26

1.403

367

19
3.369

1,130

1.134
4,503

1)

q] | EERA

b

2.067

14
177
216
732
445

123

155

47
3.980

11

0

16
3.996

Zz i

0

0

0
0

E B

0

0

0

0

0

M4

mHM®
(Cal A
]
F A
# B

% 5k
ER®
Bl

BB
i ]

WA~

S fE
&M

K S IR BT

L4

=]
JII & Ey

K

B 0 HT

qo

E B HT

M

X ic Hr
ke L]

i db Hr

# 3k 1
ic = Hr
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6 FERIHHBEAR (3)

(t /4F)

it

P
=]

635

174

376

18

1.277

10
16

41
1.318

562

92

38

18

734

11
745

A | EERA

i

174

284

543

10
16

30
573

Z

E B

fth
q] | EERA

Bt

D
=

42

1.396

42
1.480
1,484

42

1.396

42
1.480
1.483

a

0

0
1

Zz i

E B

0

0

0

0

0

MET 4

mHM®
(Cal A
]
F A
# B

% 5k
ER T
Bl

BB
i ]

WNR AT
= B
fE®

K S IR BT

L4

B
JII & Ey

K

B 0 HT

qo

E B HT

M

X ic Hr
ke L]

i db Hr

# 3k 1
ic = Hr
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FERTHBARE (4)

_ Ct /5
¥ = 7 - 5 % ~F 2

il . : % oa A it

P T 0 0 30.080 3.144 33.224
B 0 0 29.374 2.864 32.238
£ 8 18 14 12.661 4,147 16.840
Nl ] 0 0 12.512 4.279 16.791
Z 4T 0 0 13.043 0 13.043
% B ™ 0 0 19.239 0 19.239
% 5k ™ 0 0 5.918 1.301 7.219
EEB M 0 0 1.153 275 1.428
TG ) 0 0 3.028 1.806 4,834
BBPH 0 0 4.171 3.237 7.408
FE B ™ 0 0 516 619 1.135
WERTH 3 0 2.563 365 2.931
& E ™ 0 0 4.567 2.955 7.522
REM 0 0 3.536 310 3.846
[z} it 21 14 142.361 25.302 167.698
R i BT 0 0 162 0 162
B A M 0 0 373 0 373
in B Ay 0 0 2.822 84 2.906
g8 8 Hmr 0 0 112 0 112
JIl & mT 0 0 275 0 275
Z % HT 0 0 119 627 746
B 0 HT 0 0 1.478 521 1.999
X & 0 4 281 1.636 1.921
X 5 ET 0 0 0 778 778
B £ T 0 0 362 36 398
X 2 BT 0 0 321 134 455
R ELET 0 0 22 497 519
i dt mT 0 0 1.386 1.668 3.054
R o 5 0 o 3
2 = BT 0 0 0 42 42
E_T 5 0 4 7.713 6.023 13.740
IR 5 21 18 150.074 31.325 181.438




6

A CHBAE (1)

- (t /%)

T = % T F = %
LUl B x|z x|s o |eewn] & ot |8 x|z x| w 9 |eeen] s s
3 [} 0 0 0 0 0 3.117 47,590 30,080 3,562 84 349
At 0 0 0 0 0 44 261 1.846 27,298 3,630 77,035
# B H 0 0 0 0 0 24 434 1,765 12,522 4107 42 828
W R 0 0 0 0 0 12,078 21,414 12,237 3,134 48,863
Z 4t 0 0 0 0 0 9.305 14,856 12,653 624 37,438
& B th 0 0 0 0 0 0 31,580 18,507 4 206 54,293
% ik ™ 0 0 0 0 0 2.698 7.732 5.068 1.011 16,509
E®T™ 0 0 0 0 0 0 4105 1,113 409 5,627
TG ) 0 0 0 0 0 2.598 5,984 3.624 2.630 14,836
E P 0 0 0 0 0 0 3.546 3,941 1,834 9,321
HE % ™ 0 0 0 0 0 3.480 510 516 854 5,360
W 0 0 0 0 0 5,637 1,267 2.558 457 9819
& B 0 0 0 0 0 2.099 6.566 4 340 4,066 17,071
B EH 0 0 0 0 0 1.401 17.160 3.208 759 22.528
h it 0 0 0 0 0| 111,008 | 165,921 | 137,665 31,283 | 445877
K& IR BT 0 0 0 0 0 0 914 162 1 1,077
B OE B 0 0 0 0 0 0 4033 371 60 4. 464
7ii B WY 0 0 0 0 0 6.910 482 2.820 159 10,371
g B W 0 0 0 0 0 1.306 0 97 1 1,404
JI| B my 0 0 0 0 0 1,772 0 244 1 2.017
ER-) 0 0 0 0 0 0 2.448 581 675 3,704
B #0 My 0 0 0 0 0 4032 0 1.477 521 6,030
X & i 0 0 0 0 0 0 2.030 270 144 2,444
E i By 0 0 0 0 0 2.774 0 0 1.009 3,783
B4 B 0 0 0 0 0 1.618 0 339 32 1,989
X 2 W 0 0 0 0 0 0 2.033 321 161 2.515
MR 0 0 0 0 0 2.990 0 22 819 3.831
i b mr 0 0 0 0 0 0 4 360 1,386 891 6,637
# k By 0 0 0 0 0 1.952 0 0 0 1,952
if, = M7 0 0 0 0 0 2.490 0 0 0 2.490
BL]' T 0 0 0 0 0 25,844 16.300 8 (& 41474 54i 708
[C] 18 0 0 0 0 0| 136,852 | 182,221 | 145,755 35,757 | 500,585

X REREFEYHZ IRV
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6

A CHBAE (2)

_ _ (s
T = % R = 5 GEEED

LUl B x|z x|s o |eewn] & ot |8 x|z x| w 9 |eeen] s s
3 [} 166 2.610 0 4336 7.112 715 13,450 0 63 14,228
At 5,176 6.316 2.067 1,556 15,115 95 8834 9 0 8,938
# B H 698 50 14 86 848 804 5.854 51 42 6,751
W R 1.109 2.092 177 826 4204 1.609 504 98 431 2.642
Z 4t 0 1.213 216 109 1.5638 508 8.390 0 0 8.898
& B th 0 2.579 732 2,191 5.5602 9 5,561 0 942 6,512
% ik ™ 587 120 445 808 1.960 1.066 923 121 103 2.213
E®T™ 0 73 0 55 128 17 1,251 40 75 1,383
TG ) 0 0 0 0 0 0 1.477 24 385 1,886
E P 0 543 123 1,403 2.069 390 367 107 0 864
HE % ™ 185 49 0 324 558 891 139 0 37 1.067
WEATH 103 34 4 13 154 50 648 0 129 827
& B 359 68 155 840 1.422 1,781 529 72 762 3,144
B EH 82 325 47 416 870 193 2.944 279 131 3,547
h it 8.465 16.072 3.980 12,963 41.480 8.128 50,871 801 3.100 62,900
KGR 0 61 0 0 61 0 245 0 0 245
B8 A 0 176 0 5 181 8 629 0 0 637
7ii B WY 262 0 2 107 371 521 1.190 0 179 1.890
g1 B B 287 0 3 3 293 285 0 2 1 288
JI| #E my 469 0 11 7 487 492 0 4 2 498
e 0 94 0 43 137 0 307 0 5 312
B #0 My 132 0 0 104 236 290 505 0 0 795
X & i 0 61 0 18 79 0 395 11 139 545
E i By 104 0 0 14 118 215 566 0 171 952
B4 B 0 0 0 0 0 374 0 22 0 396
X & B 0 53 0 16 69 0 113 0 8 121
R 76 91 0 677 844 212 429 0 75 716
i b mr 0 40 0 1,149 1,189 877 0 0 74 951
# k By 116 0 0 0 116 579 0 0 0 579
if, = M7 212 0 0 0 212 693 0 0 0 693
Bl]' T 1i658 576 16 2.143 4i393 41546 4i379 39 (ﬂ 9i618
[C] 18 10,123 16,648 3.996 15,106 45 873 12.674 55,250 840 3.754 72,518

X REREFEYHZ IRV
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6

AT HBAE (3)

(t /%)
£ fib X #
GiLIES - N - - - -
E E it | 5F A | EERA| & 3 HE B | £ & | F A | EERA| & 3

2 il 6 102 0 0 108 0 0 0 0 0
g E 0 0 0 0 0 0 0 0 0 0
el 67 0 1 6 74 112 84 73 967 1,236
A PR 0 5 0 0 5 0 0 0 115 115
£ 4 354 57 0 512 923 0 457 174 769 1.400
& B 0 59 0 0 59 0 521 0 0 521
£ 5k 0 0 0 0 0 248 0 284 533 1,065
ER® 0 0 0 0 0 11 0 0 35 46
L) 0 0 0 116 116 113 449 11 914 1,487
R h 0 0 0 0 0 0 0 0 0 0
AE B 15 3 0 0 18 15 0 0 79 94
LNE AT 0 0 0 0 0 0 0 1 2.320 2,321
B 0 5 0 0 5 0 2 0 181 183
&'/ 0 0 0 0 0 39 0 2 159 200
i) it 442 231 1 634 1.308 538 1.513 545 6.072 8,668
K & U Y 0 2 0 0 2 0 66 0 1 67
® 8 M 0 12 0 1.699 1.711 0 376 2 47 425
7 % Ey 0 0 0 0 0 0 0 0 0 0
L) 0 0 0 0 0 91 0 10 13 114
JII Y 0 0 0 0 0 101 0 16 27 144
% S MWy 0 2 0 189 191 0 0 0 61 61
B ¥0 MRy 0 0 0 0 0 8 0 1 202 211
x & My 0 6 0 1.396 1.402 0 0 0 96 96
X 5 My 0 0 0 0 0 8 0 0 115 123
B = My 0 0 0 0 0 56 0 1 4 61
X i By 0 6 0 0 6 0 0 0 83 83
[EakEEAL0) 0 0 0 0 0 26 9 0 58 93
£ dc my 0 0 0 0 0 0 0 0 0 0
i & Wy 0 0 0 0 0 43 0 0 0 43
fE E0] 64 0 0 42 106 53 0 0 0 53
iy T 64 28 0 3326 ) 3418 386 451 30 707) 1574
It T 506 259 1 3.960 4.726 924 1,964 575 6.779 | 10.242

X REREFEYHZ IRV
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6 H/EITHRAE (4)

_ _ _ (/%)
a i & & W A B & & N XE 4 &HE
i B 8| % 5 & oAl | EEmAl & & A BE E | £ & | & A |EEEA| & F
# M ]|__4004] 63752 ] 30080 _7.961] 105,197 0 13 0 0 0 13
Hiih | 49532 | 16,996 | 20374 | 5186 | 101,088 0 0 0 0 0 0
" % i || 26115| 7.753 | 12661 | 5208 51,737 0 7 0 0 0 7
HABR || 14796 | 24015 | 12512 | 4506 | 55.829 0 0 0 0 0 0
% % || 10167 24973 | 13043 2014 50.197 b4 3 0 0 0 3
# B 9] 40300 19239] 7339 66.887 0 1 1 0 0 2
#ak | 4599 8775 | 5918 2455 21.747 0 3 0 0 1 4
W 28| 5499 | 1.163 574 7184 0 0 0 0 0 0
|| 2711| 7910 3669| 4045| 18325 0 0 0 0 1 1
LEZ 300 | 4456 4171 3237 12254 0 0 0 0 18 18
f % || 4586 701 516 1204|7097 0 3 0 0 5 8
Wi [ 5690 1949] 2563 2919 [ 13121 0 0 0 0 0 0
® B h || 4239 7110 | 4567| 5849 21.8% 0 0 0 0 7
& m | 1715| 20429 3536 | 1465| 27.145 0 0 0 0 0 0
d___&f || 128581 | 234608 | 142092 | 54.052 | 560.233 54 30 1 0 32 63
KB IHT 0] 1988 162 2] 1452 0 0 1 0 0 1
# AT 8] 522 373 _1811[ 7418 0 0 0 0 1 1
% Bl 7693 1672 2822 445 12632 0 0 0 0 0 0
9 0 | 1969 0 112 i8] 2.099 0 0 0 0 0 0
)il # #y | 2834 0 275 37| _3.146 0 0 0 0 0 0
% & i 0] 2851 581 973 | 4,405 0 0 0 0 0 0
B A0 By || 4462 505 | 1.478 827| 1272 170 0 0 0 0 0
A A0 0] 249 281 | 1793 _ 4566 0 0 0 0 0 0
& B oy | 3101 566 0] _1309] 4976 0 7 0 0 6 13
= W] 2048 0 362 36| 2446 0 0 0 0 0 0
X fo By 0] 2205 391 268 | 2.794 0 0 2 0 0 2
mfFSE [ 3304 529 22| 1629 5484 0 13 0 0 0 13
2 d By 877 4400 | 1386 | 2114 8777 0 0 0 0 7 7
ok B ] 2690 0 0 0] 2690 0 1 0 0 0 1
2= W] 3512 0 0 42| 3554 152 2 0 0 0 2
[ &t || 324981 21734 817b] 11304] 73711 322 23 3 0 14 40
.} 161,079 | 256,342 | 151,167 | 65,356 | 633,944 316 53 4 0 46 103

X KERFEME IR
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